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Unit 13 Albert Einstein

| ZIHE |

1. ZERAE

(1) —Isit Jack? — No, it’s not him.

(2) Who is he/she?

(3) It must be him/her.
2. BRMRAE

cheque, scientific, advance, education, technical, respect, prove, discovery, peach, be content
with sth. /to do sth. , lead to, get along with, work out, stick to, take sides (in), be fond of, at the
age of, invite sb. to do sth. /invite sb. to a place, all through one’s life, do a word puzzle
3. A8 |

(1) by the time + Bf[ELARIEMA

(2) It is [ was said that--

(3) find it important to do sth.

(4) Such was Albert Einstein.
4.18%

FENA),

What he wanted to see was an end to all the armies in the world.

It’s said + that M),

g%ﬂﬂiﬁﬁﬁ

[ 1] By the time he , the conference over.

A. arrived, had been B.will arrive, has been C.had come, was D. comes, is

MRAT: BRN A, WEEEHENSIER. by the time BH BB Ch1k)” MEH %,
G 0f EARE MR, 24 A VB B s iR At et A, @M% RN AR A, HitEiEs)
T W) — e 20T, EA)E Kk SE AT, 0.

By the time he was fourteen years old, he had learned advanced mathematics all by himself. | 14
ol MEZ A% T RS,

By the time he comes, I will have finished the work. Blfi3nt , (L) FRXTHET -

[ 2] While on that project, we came to realize we the same view.
A. talking about, were held B. comparing notes, held
C. comparing notes, were holding ~ D. compared, were holding

fRHT: RN Co compare noteson + n. BB B BB, “WRig-", R—AH
. 1 .
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SEIETC . hold the same view HEERHAMRMMWA" . Comparing B R EERRE SN EE
we JERGER L9 EIH LR, Btk RS, MAALESE. BS CHMEHNRAE LN
held 5t 2 #£478% were holding BIX 1. ARIER &, A L#THRR HEHFEMNITRRER
1528

[ 3] What he did that night was a to the police.

A puzzle B. problem C. question D. case

BRAT: RN A, HBETER L H A, problem R FMFEMEFBAKNFEE, FEEH
M, e

The problem is how to enlarge the students’ active vocabulary. [FJEER g0{e 3~ F2E A R .

question i’%ﬁ'ﬁiﬂ‘%$%%ﬁﬁ&ﬂi%ﬁ@%ﬁ€ll‘ﬁlﬂc i

After class, the teacher answered a number of questions. T /& L E T — e,

DY case AT PIFIR“RE4", B TR & “HE"H, HERRAE “RA"E, A A B
puzzle &7 8 A BR B B R S A9 MERE BESTER. “BRK AT TH LA RERLERZDT
K", ATIRBEEER. B, puze E 0] FITEEIA JFOR 1 AKRBARE", 0.

The little girl formed the habit of visiting Albert Einstein, on her way home from school, which
puzzled her mother greatly. And the puzzled mother went to ask him what he and her daughter did. /)
B BRI AR B R O E R B S FENE, X SRR, TR, IR
oG 45 2= A fb A ik £ L T2t A

[#] 4] He seemed to sit alone, .
A. satisfied, to think B. content, thinking
C. satisfying, thinking D. contented, thought

R4 - KR H B, content JAYEK 27 , be content to do sth. “MEE T HH"; be content with
(sth.) “BL(EED) Nk R, A, 5 A7 A thinking, BAESMAFRT HBER DL, ERIE

e

[ 1] i&: This road leads for the airport.
iF : This road leads to the airport.
AR “iE I, 2B lead to. A foro
[#) 2] i®: 1’1l prove you that he is right.
iE : 1’1l prove to you that he is right.
PRA: prove EARIRIUE R, BPAREYL prove sb. sth. , T prove to sb. sth. B prove sth. to
sb. o
[ 41 3] i%: Are you content to your present job?
iE : Are you content with your present job?
8 BA: be content with = satisfied with (%} 1% ); be content to do sth. = be willing to do
sth. (BEFEH)
[ 4] 1% : We are advancing forward along the socialist road.
1F : We are advancing along the socialist road.
%88 advance = go forward, B forward EE T .
[#1 5] iR : The earth moves around the sun in the space.

-2 .
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1E : The earth moves around the sun in space.
VEBA : space RR“BER2Z Mz 6], KE "2 B, RATHLH , A FAEiE.
B EES]
1.1 was kept in the darkness. I didn’t know anything about it.

2. Lincoln fought against the freedom of the black people.

3. He found difficult to get along with other boys.

4. After a short rest, he went on to do his work.

5.1 wouldn’t receive his invitation.

6. He was said to hear the news.

7. That we need is more time.

8. He is an honest boy is known to all.

9. If he will come is not known yet.

10. It is necessary students learn a foreign language well.

{ 2wl

[ . AEShEEERNZRAEIE, HFURELYRARS
(fight for, turn to, work out, stick to, be fond of, lead to, get along well with)

1. Abraham Lincoln _______ freedom for the American people all his life.

2. Mary is a strange boy and he can’t his classmates.

3. Thelittlegirl __ her mother for help when she was in trouble.

4. All roads Rome.

5. The maths problem is too difficult for us to

6. As a child, he music.

7. Although his idea wasn’t accepted by others, he it.

II iR R R A BT

1. The ultimate aim of the Communist Party of China is the realization of . (Communist)
2. Now he was dead, and I couldn’t get away from my . (sad)

3. She has a very method of dealing with political problems. (science)
4.Don’t goany . (far)

5. Have you your well-earned prize? (get)



0.i&%ES (ZAENAERBRNRRE)

1. Can you tell me the railway station?

A.how I can get to B. how can I get 10

C. where I can get to D. where can I get to
2. The old gentleman never fails to help is in need of his help.

A. whom B. who C. whoever D. whomever
3. No one can be sure in a million years.

A. what man will look like B. what will man look like

C. man will look like what D. what look will man like
4.1 don’ t remember Mr Lee bought for his wife.

A. what B. when C. how D. where
5. He seems different from he used to be.

A. that B. which C. what D. who
.6. He is no longer over twenty years ago.

A. what was he B. what he was

C. the man what was D. like what was he
7. The question he asked was the electrical equipment should be stored.

A. what B. which C. where D. because
8. — Doesn’ t Hellen live on this street?

— No. This is he lived.

A. which 3. where C.who D. that
9.Give it to _ you think can do the work well.

A.who B. whoever C. whomever D. whatever
10. The question is he will come back in time.

Aif B. whether C. that D. when

V. BRER/AESES
A. H stick to, insist on 8} insist that 3% :

1. The guard at the gate everybody obey the rules.

2.She my mother staying for supper.

3.She her opinion at the meeting.

4. John always his promise.
B. F go on B go on with % :

1. Mother cooking, and I my school work.

2.We mustn 't let this _

3.Johnwill __ what he’s been saying.

4. Thewar _____ untl 1918.
C. i work at, work on 5 work out % :

1.He the problem with no difficulty.

2.Can you _ how much it costs to build the bridge?

3.Why don’t youset himto _____ something?

- 4
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1.

2.

3.

4.

5.

6.

7.

8.

9.

10.

11.

12.

13.

14.

15.

4.They'll till midnight.

F appear B seem {55 ;
1.1t that the news is true.
2. He to be very friendly to us.
3.1t as if the sky were falling.
4. The old man to be in excellent health.
CBITTAIR AT
By the time he was six, the boy 2,000 English words.
A. learned B. had learned C. has learned D. was learning
I found impossible to finish the work alone.
At B. that C. this D. very
was Albert Einstein, a simple man of great achievements.
A. Such B.So C.It D. These
He an invitation but he didn’t it.
A. accepted, receive B. received, accept
C. get, receive D. received, get
My grandpa is content quietly in the country.
A. living B. to living C. 1o live D. to be living
Switzerland didn’ t in the Second World War.
A. take side B. take the side C. take sides D. take a side
We need fifteen more desks these five.
A. except B. besides C. except for D. except that
Too much discussion will only confusion.
A get to B. lie in C.lead to D. bring in
The reason he missed the lecture was he had an accident.
A. that, because B. why, because C.why, as D. for which, that
he failed in the entrance examination surprised us.
A. What B. That C. Which D. Whether
It’s reported China has built the second largest bridge in Shanghai.
A. what B. that C. which D. whether
I made it a rule a diary in English every day.
A, writing B. write C. for me to write D. to write
Who was the first person today?
A. spoke to you B. whom you spoke C. you spoke to D. you spoke
The problem is we can finish the work within such a short time.
A. which B. when C. that D. how
Our chemistry teacher always does what she can ________ us with our chemistry.
A. help B. to help C. helping D. helps
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1. WrhIBRE (20 /N BE/NER 1.5 4%, 1643 30 41)
H—EE S /MBI .5 4,8 T7.54)

R S BiE. BERWEREA —A/NME, NEFR T4 M AB.C =530 2% H ik

T, HARTE R HAR AL B . W48 BORHESE AR ERA 10 B4k Y rd ] B 2 A X/ ME R 3T —
}J\@o ﬁ&xﬁﬁﬁﬁ_‘ﬁo
1. What do we learn from the man’s response?

A. He shares the woman’s opinion of photos.
B. The photographer could have gotten more pictures.
C. The photographer couldn’ t get good shots.

2. Who answers the question on watching TV?

A. Father. B. Son C. Mother.
3. Where does the conversation take place?
A. In a shop. B. At a restaurant. C. At a theatre.
4, What does the man mean?
A. Her bag may be in her car. B. He saw her keys in her car.

C. The keys may be in her car.
5. What is Mary going to do?

A. Go out for supper. B. Go to the movie.

C. Have supper and then study.
ST (S 15 /M /M 1.5 4y, W4 22.5 9%)

R 5 BXHERM S, SEMERMARAEIL/NME, NEF T4 K AB.C = ®IF

P BRI, SEARZE RS AR R B o WA BN BB 1 AT, KA B 18] B R /N, /)
B 5 Heh, WlE, &/ MEKE H S B R EERTE . BBO E e HEERE
WrsE 6 BLA R, S 6.7 B,
6. Who is having a birthday?

A. Sue. B. Bill. C. Mary.
7. When will the party begin?

A. About 2 o’ clock. B. About 5 o’ clock C. About 9 o’ clock.

W 7 BRA R, FIESE 80 M,
8. Why does the woman want to buy something for her husband?
A. He is angry with her. B. It is a birthday present.

C. It is a Christmas present.
9. What kind of present did the woman give her husband the last time?
AL A tie. B. A tie and a hat.
C. Some facial cream.
WESE 8 Brbbkt, EAESS 10 & 12 8.
10. Where did this conversation most probably take place?
A. At a dancing party. B. At a medical school

-6 -



C. At the campus.

11. Why doesn’t the woman know many people there?
A.She’s just arrived at the party. B. She’s a new student.
C. She’ll transfer into another college.

12. What can we learn from the conversation?

A. Anna has just arrived at the party. B. Peter has few friends here.
C. Anna and Peter are both students.

WTSE 9 BrAr R, RIS 13 E 16 M.

13. What does the man want to do?
A. To make an appointment with Jane. B. To arrange to see a doctor.

C. To go to Jane’s office.
14. At what time is the appointment made?
AL At 3:00. B. Shortly after 3:00. C. After 4:00.
15. Where will they meet?
A. At Jane's office.  B. At Jane’s home. C. Not mentioned.
16. What can we learn about Jane?
A. She isn’ t free tomorrow afterncon. B. Three o’ clock isn’ t convenient for her.
C. She has a meeting at 3 tomorrow afternoon.
WTSE 10 Bobb R, 856 17 & 20 &
17. When was Chaplin born?
A.In 1910. B.In 1918. C.In 1889.
18. How was his early life?
A. Very happy. B. Very hard. C. Very pleasant.
19. Where did he live after 19527
A. In the United States. B. In Britain.
C. In Switzerland.
20. What is the talk mainly about?
A. About the life of Chaplin. B. About the history of films.
C. About the films made by Chaplin.
1. BTUEE (15 /ME; /M8 1 4,945 15 51)

21.We will stop here today and the story tomorrow.

A. go on with B.goon to C.goon D. go on telling
22. “The shoes you well. " “Yes, but the socks me.”

A._fit, not fit B.fit, aren’t fit for

C. are fit for, don’t fit D. fit, don’t fit
23. He was very pleased the Nobel Prize physics.

A. to be won, of B. to have won, for C. having won, on D. to win, at
24. Although it was very late, the quarrel .

A. continued B. is continued C. kept on D. was lasted

25. Einstein’s theory proved and soon he became world-famous.
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A. to be corrected B. to correct

C. to be correct D. to have been corrected
26. He stuck his opinion but I don’t agree him.

A. to, with B. 1o, on C. with, with D. with, on
27. Though he was very young, he had to a family.

A. feed on B. lead C. support D. live
28. we all know, our teacher is very strict with us.

A. Which B. Such C. What D.As
29. The spaceship left the earth very high speed.

A.in B.at C.on D. with
30. would be our home in the future.

ATt B. Such C.% D. Which
31. My grandfather is to live quietly in the countryside.

A. fine B. content C. helpful D. busy
32.By the time he was ten, Edison a lab by himself.

A. had built B. built C. has built D. had been built
33.He is a very easy man ___ .

A. get along with B. to get along

C. to get along with D. get along
34.Only in this way solve the problem.

A. we can B. can we C.leads to D. leads in
35. The article is well written a few grammar mistakes.

A. besides B. except for C. except that D. but

Il e (20 /NEE; 48/ 1.5 4%, W64 30 43)

Mr Black was a wealthy businessman, but he wasnot 36 with life. He did not sleep well and
his food did not 37  with him. The situation lasted for some iime. Finally, aftera 38  of sleep-
less nights, he 39  to see his doctor. The doctor advised a change of 40 . “Go abroad”, he
said. “But I'm not good at foreign languages,” said Mr Black. “It doesn’t matter,” said the doctor.
“Itwon’t __41 youto talk alittle less. _ 42  on a trip. Take plenty of exercise. Try to _ 43
your weight. Avoid eating rich food. ” Mr Black went to Switzerland. He did not know French or Ger-
man, and had to express himself through gestures. He 44  a physical training course. The instruc-
tor made him _ 45 _ his knees, swing his arms, stretch his neck and shake his head _ 46 , he had
to lie on the ground and 47 _ his right and left legs in __ 48 . After a time his muscles grew hard
and firm. He almost 49  aside his financial worries and nearly forgot the importance of 50
more money. He even began to __ 51 individual trees and individual birds. He ate and slept well.
52 he returmed home. But unfortunately his 53 didnot _ 54 long. Soon he was a normal bus-
inessman again, worried about his property, his profits, his savings, his success in a competitive soci-
ety, and thingsin _ 55 .

36. A. good B. interested C. satisfied D. healthy
37. A. agree B. taste C. suit D. fit

. g -




38. A. great deal B. number C. course D. few

39. A. decided B. refused C. called D. expected
40. A. situation B. surroundings C. weather D.life
41. A. stop B. hurt C. help D. prevent
42. A. Leave B. Go C. Join D. Start
43. A. increase B. gain C. miss D. reduce
44, A. took part in B. joined C. attended D. entered into
45.A. bow B. bend C. kneel D. knock
46. A. timely B. fully C. rapidly D. gently
47. A. rise B. raise C.pul D. draw
48. A. time B. tumn C. length D. number
49.A. lay B. pushed C. put D. stepped
50. A. collecting B. spending C. saving D. making
51.A. see B. notice C. consider D. search
52. A. Luckily B. Finally C. Quietly D. Willingly
53. A. development B. improvement C. pleasure D. freedom
54.A. seem B.go on C.last D. continue
55. A. form B. general C. particular D. sight
V. BRI RE (20 /N B9/ME 2 43, W6 5) 40 4%)

A

Mr Robinson never went to a dentist (?¥B£), because he was afraid, but then his teeth began
hurting a lot, and he went to a dentist. The dentist did a lot of work in his mouth for a long time. On
the last day Mr Robinson said to him, “How much is all this work going to cost?” The dentist said,
“Twenty-five pounds”. But he didn’t ask him for the money.

After a month, Mr Robinson phoned the dentist and said, “You haven’t asked me for any money
for your work last month.”

“Oh,” the dentist answered, “I never ask a gentleman for money.”

“Then how do you live?” Mr Robinson asked.

“Most gentlemen pay me quickly,” the dentist said, “but some don’t. I wait for my money for
two months, and I say, ‘That man isn’t a gentleman and then I ask him for my money’. "
56. According to the dentist, Mr Robinson

A. was a real gentleman B. wasn’t a gentleman

C. was a man who was afraid of toothache D. was a man who wasn't afraid of toothache
57. How much did Mr Robinson pay the dentist as soon as a lot of work was done in his mouth?

A. Less than 25 pounds. B. More than 25 pounds.

C.We don’ t know. D. None.

58. Why didn’ t the dentist ask Mr Robinson for the money?
A. Mr Robinson was his good friend.
B. Mr Robinson was his neighbour.
C. He thought people should pay money in time.



D. He was too shy to do that.
59. Which of the following is not true?

A. Mr Robinson went to a dentist.

B. Mr Robinson paid the dentist later.

C. Most people paid the dentist in time.

D. The dentist would ask a gentleman for his money after a month.
60. What do you suppose would happen?

A. Mr Robinson would have to pay 25 pounds.

B. The dentist would refuse to take the money.

C. The dentist would quarrel with Mr Robinson about the money.

D. Mr Robinson would make friends with the dentist.

B
Even people who don’ t understand English can enjoy Chaplin’s film because they are mostly si-

lent. It isn’t what he says that makes us laugh. His comedy doesn’t depend on words or language. It
depends on little actions which mean the same thing to people all over the world. Acting out, without
words, of common human situations plays an important part in dances and plays of many countries. It's

a kind of world language.
61. Chaplin was .

A. a film star B. 2 comedy writer C. a play actor D. a dancer
62. People enjoy Chaplin’s .

A. silence B. language C. words D. actions
63. “World language” here means .

A. play B.dance C. acting D. comedy
64 . Chaplin’ s success lies in the fact that

A. he had confidence in himself B. he kept on practising his spoken language

C. he was excellent in silent comedy D. he was good at plays and dances
65. This passage tells mainly of

A. a special kind of world language B. the importance of comedy

C. the unusual acting of Chaplin D. Chaplin’s huge success

C
Is City Life Good?

Large modern cities are too big to control. They force the people who live in cities to fit in with
their surroundings (¥F3) to accept a wholly unnatural way of life. They lose touch with the land and
rthythm (3728) of nature. It is possible to live such an air-conditioned (A Z##)) life in a large city
that you hardly know the seasons. A few flowers in a public park (if you have time to visit it) may tell
you whether it is spring or summer. A few leaves falling to the road may tell you that it is autumn. Be-
yond (PL#P) that what is going on in nature seems to have nothing to do with you. All the simple,
good things of life like sunshine and fresh air are quite valuable. The sun is hidden by tall buildings.
Cars pollute the atmosphere (KX5).

Even the difference between day and night is lost. The flow of cars goes all the time and the noise

< 10 -



never stops.
66. Which is not one of the reasons why city life is not good?

A. The people are not often close to the rhythm of nature.

B. The people can’t enjoy sunshine and fresh air.

C. Modern cities offer better schools and more chances of work.

D. Cars pollute the air.
67. What are highly regarded in big cities?

A. Living conditions. B. Sunshine and fresh air.

C. Air-conditioned houses. D. A few flowers and a few leaves.
68. It is not easy to see much difference between day and night because

A. citizens are forced to accept a wholly unnatural way of life

B. the sun is hidden from view by tall buildings and cars go all the time

C. the noise made by cars never stops

D. large modern cities are too big to control
69. If you want to know what season it is,

A. it is right for you to walk on the road

B. you’d better visit a public park

C. you can remember whether it is spring or summer

D. you may turn off your air conditioner
70. Which statement is not true according to the passage?

A. Large modern cities are not good to live in..

B. Living in large modern cities has so many uncomfortable things.

C. All the simple, good things of life fall on the people who live in large cities.

D. Many things that are going on in nature are not connected with large modern cities.

D .

Miss Rogers taught physics in a New York school. Last month she was teaching sound to one of
her classes. She wanted to test them to see how successful (J{Z1#Y) she had been in her work.

She said to the class, “Now, I have a brother in Los Angeles. If I was calling him on the phone,
and at the same time you were 75 feet away, listening to me from across the street, which of you would
hear what I said earlier?”

The cleverest student at once answered, “Your brother, Miss Rogers, because electricity (H)
goes faster than sound. ”

“That’s very good,” Miss Rogers was pleased with the answer.

However, one of the girls raised her hand. “Yes, Debbie?” Miss Rogers said.

“I disagree, " Debbie said. “Your brother would hear you earlier because when it’s eleven o’ clock
here, it’s only eight o’ clock in Los Angeles. ”
71.Miss Rogers was a physics teacher teaching

A. only sound B. only sound and electricity
C. more than one class D. only one class
72. Miss Rogers supposed she would phone her brother from to

.l]_.



A.New York; Los Angeles
B. across the street; the place 75 feet away
C.a New York school; the street 75 feet away
D. Los Angeles; a school in New York
73. According to the cleverest student, who heard earlier?

A. Miss Rogers. B. Rogers’s brother.
C. The student himself. D. The girl Debbie.
74. According to the girl student, who heard earlier?
A. Miss Rogers. B. Rogers’s brother.
C. The cleverest student. D. The girl herself.
75. Whose answer do you think was reasonable?
A.Debbie’s. B. The cleverest student’s.
C. Both were reasonable. D. Neither was reasonable.

V. @ ssa( 3t 10 /ME; B/ME 1 4, 94 10 4)
Albert Einstein’s Overcoat

One day the famous scientist Albert Einstein came cross an
old friend of his in a street in New York.

“Mr Einstein,” said a friend. “It seems that you need to have
a new overcoat. Look, what womout it is.”

“It doesn’ t matter,” answered Albert Einstein.

“Not one knows me here in New York. ”

Several years late, they met in New York again. Einstein
has become a world-famous physicist by then, but he still
wearing the same old overcoat. Once more his friend
managed to persuade him to buy a new one.

“There are no need now,” said Einstein. “Everybody here
knows me.”
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